5. One end of a string is fixed on the ceiling. The string winds LF 27
around a uniform solid spool of mass M, radius R, and length d. L)
O

A_ (3 pts) What is the moment of inertia of the spool about
the axis running through point O and parallel to the central

axis of the spool in the figure?

(a) M(d + R)R. MJ:M 1% (14 féa.: X
§ ¥ Md

(b) 2MR?, I.; = c.bn, e {,, td
(c) M(d" +R?). Lto” = %Mgﬂ MRE : }i.mf'
*(d) 3/2 MR®.
B. {4 pts) Ll spoolis icleused irontrcse RWHL e Geic duk
“<(2) 293 57 ij =T -« (Trges €4)
0 @i o-uR geomeks,
e > gk - 2w 2
() &
2 R>59
C. (3 pts) Suppose the spool were a thin o dinder with the same diteion 61 A s i
above. What is its acceleration? Ton q“ Caul I“h - -“’?RL > 1; =2 HR-"
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(c) 2g/3.

(d) (d/R)g.




